1000/c do)/dm [1/GeV]

Ratio to CMS

7000 GeV pp Jets

_| Tt T T TTT | T T T Tt T T | T T T T T | Tt T T TTT | 1] ﬂ
| -
10° &= Pruned dijet mass(anti-k_(0.7), 2450<p_<500, |y|<2.5) ¢
- ! ! Jx
10% - =&
=, =
— 4 —o
10 g—z_/ﬂ\ b =
= o
1 |
= =

10_1 E_ —E
LT 1=
107 e =
— qm
107 = 8
= =M
- EE
107 - 25
= m CMS a= &
— A Pythia 6.427 370 16
5 | . <
107 & Pythia 6.427 379 =l
= Jv
10° =
- 50
I R NP TN SO AN N PO SRNPURN TR AU NP RO SR A AT RRTENN AN AN S NI =

L [
2 B —2

. B “\ _

0.5




	Contents
	Page 1


